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2 In2

= 28In2— (8 —6In2)

30. AL : Folzl £US WEA]
L gas P 5 ARUS 7T 4 9
717

AE| -

fl@)=a*+b* +ecx+d (a>0, bed=

et s

/(@) = 3az’ +2bx +c
ol g
F(3)=27a+9+3c+d= %@

£'(3)=27a+6b+c=0+©
23 (ZhollA
1(0)=g(£(0) = g(d) = 5™ —1 =0

sinrd — 1 sinrd =0

@

olBE di g4olct,

() = e X reosmx

= 5" reosTd X ¢

=mcostdXc=0
I3, cosndA0 O|B& ¢=0
2t Q. OoflA]

27a+9b+d= %@ 9a+20=0---@

o|1l a>00]B 2 ph<( O]

©—-3xE@0lA
1

mtehd d>00lm2 di ApeiSolct

=34In2—8 E3h f'(0)=c=0 olB22 & flr)=
TefA p=—8, ¢=34 o|B=2 =004 Sl f(0)=d, = =301A
pFg=26 =43t0] <o},
A 26 2
26

EBSCe



5, 0<z<3 oA fB3)< flz) < f(0)

S =9 sinrf(z) =1n2(0 < In2 < 1)
o) N2 o A2 7j47t 70)7]
QM= e y=sinmto] 7=
20|og

d=38

©, @A

ret A

40 22
2)=-—10+8="-
f@)=——10+8=

7_5'_’ ng’ q:22 O]EE‘
ptqg=31
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